

05/25/2021

Vendor Ranking

Page 1 of 1

Letting: 08210511 May 11, 2021 02:30 PM **Call Order:** 004 **Contract:** E8T16-R0

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

PALM BEACH, TURNPIKE Project(s): 19077445214 (*)

Contract Desc: SLOPE REHABILITATION - ZONE 1

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AGRICULTURAL LAND SERVICES, INC.	Responsive	Winning bid	\$269,800.00	100.00% Inten
2	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$332,000.00	123.05%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$399,696.00	148.15%
4	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$410,200.00	152.04%
5	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$430,500.00	159.56%
6	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$1,322,000.00	489.99%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: MAY 25, 2021 4:00 PM





Tabulation of Bids

Page 1 of 4

Letting: 08210511 May 11, 2021 **Call Order:** 004 **Contract:** E8T16-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 19077445214 (*)

Contract Descr: SLOPE REHABILITATION - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to repair and/or restore roadside slopes and back slopes, including site preparation, grading, borrow excavation material, sodding, and the installation of Geosynthetic soil reinforcement (Biaxial Geogrid) at various locations on the Homestead Extension Florida's Turnpike, Milepost (MP) 0.0 to 46.5, Florida's Turnpike, MP 0.0X to 100.0, and Sawgrass Expressway, MP 0.0 to 22.5.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

Use products listed on the Department's Approved Product List (APL). Section 985 - Geosynthetic Materials.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

	TRE-BID CONFERENCE WILL BE FIELD FOR THIS FROMEOT.								
	No / Item ID Description	Alternate	Quantity Units	(1) AGRICULT SERVICE		(2) T.T.C. ENVII		CONSULTING	ANAGEMENT & G OF FLORIDA
() ind	() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION: 0001 (MISCELLANEOUS ROUTINE MAINTENANCE (MH						Н			
0005 BORRO MEASUR	0120 2 2 W EXCAVATION RE	, TRUCK	1,600.000 CY	10.00000	16,000.00	20.00000	32,000.00	18.81000	30,096.00
0010 GEOSYN SLOPE	0145 1 NTHETIC REINFO		300,000.000 SF	0.42000	126,000.00	0.20000	60,000.00	0.69000	207,000.00
0015 SODDIN	E575 1 IG		30,000.000 SY	2.05000	61,500.00	7.00000	210,000.00	3.11000	93,300.00
0020 SHOULE	E577 70 DER REWORK		30,000.000 SY	2.21000	66,300.00	1.00000	30,000.00	2.31000	69,300.00



05/25/2021

Page 2 of 4

Tabulation of Bids

Letting: 08210511 May 11, 2021 **Call Order:** 004 **Contract:** E8T16-R0

3								
Line No / Item ID Alterna	te Quantity Units	(1) AGRICULTURAL LAND SERVICES, INC.		(2) T.T.C. ENVIRONMENTAL, INC.		(3) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LLC Ext Amount	

SECTION: 0001 (MISCELLANEOUS ROUTINE MAINTENANCE (MH

0001 MISCELLANEOUS Section Totals: \$269,800.00 \$332,000.00 \$399,696.00

ROUTINE MAINTENANCE (MH)

Contract Grand Totals:	\$269,800.00	\$332,000.00	399,696.00
------------------------	--------------	--------------	------------





Tabulation of Bids

Page 3 of 4

Lettin	ig: 0	8210511	May 11, 2021	Ca	II Order: 004		Contract:	E8T16-R0	
	e No / Item ID	Alternat	e Quantity Units	(4) WRA CONSTRUC		(5) MIDW CONSTRUC		• •	LANDSCAPING WN SE
() in	ndicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(MISCELLANE	OUS ROUTINE MA	AINTENANCE (M	н			
0005 BORRO MEASU	0120 2 2 OW EXCAVAT JRE	ION, TRUCK	1,600.000 CY	26.50000	42,400.00	30.00000	48,000.00	44.00000	70,400.00
0010 GEOSY SLOPE	_	INFORCED SC	300,000.000 DIL SF	0.50000	150,000.00	0.45000	135,000.00	3.44000	1,032,000.00
0015 SODDI	E575 1 NG		30,000.000 SY	3.79000	113,700.00	4.75000	142,500.00	3.88000	116,400.00
0020 SHOUL	E577 70 LDER REWOR	K	30,000.000 SY	3.47000	104,100.00	3.50000	105,000.00	3.44000	103,200.00
0001 MISCELLANEOUS Section Totals: \$410,200.00 \$430,500.00 \$1,3 ROUTINE MAINTENANCE (MH)						\$1,322,000.00			
		Contract G	rand Totals:		\$410,200.00		\$430,500.00		1,322,000.00



05/25/2021

Tabulation of Bids

Page 4 of 4

Letting: 08210511

May 11, 2021

Call Order: 004

Contract:

E8T16-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.